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Evaluate the function at the indicated values. If the fundion does not exist at a value, enter NONE.
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Do 3+ Jusr Lixe

Solve the linesar inequality. Express the solution using interval notation.
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Solve the linear inequality. Express the sclution using interval notaticon.
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Solve the nonlinear inequality. Exprass the solution using interval notation.

=2 <o 2 (x42)
.-

<0

=7

&
—_ ?
R vE N
X € C;:L/’?3

Aug 30-2:34 PM



1-7-just-in-time-skills.notebook

September 05, 2017

= 42, SCalc8 1.7.JIT.009.

Solve the inequality. Express the answer using interval notation.
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Solve the inequality. Express the answer using interval notation.
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